



η -Ricci Solitons on Lorentzian Para-Sasakian Manifolds

Adara M. Blaga^a

^aDepartment of Mathematics
West University of Timișoara
Bld. V. Pârvoan nr. 4, 300223, Timișoara, România

Abstract. We consider η -Ricci solitons on Lorentzian para-Sasakian manifolds satisfying certain curvature conditions: $R(\xi, X) \cdot S = 0$ and $S \cdot R(\xi, X) = 0$. We prove that on a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$, if the Ricci curvature satisfies one of the previous conditions, the existence of η -Ricci solitons implies that (M, g) is Einstein manifold. We also conclude that in these cases there is no Ricci soliton on M with the potential vector field ξ . On the other way, if M is of constant curvature, then (M, g) is elliptic manifold. Cases when the Ricci tensor satisfies different other conditions are also discussed.

1. Introduction

In the last years, the interest in studying Ricci solitons has considerably increased. Ricci solitons were introduced by R. S. Hamilton as natural generalizations of Einstein metrics [12] and have been studied in many contexts: on Kähler manifolds [8], on contact and Lorentzian manifolds [1], [6], [14], [20], [21], on Sasakian [10], [13], α -Sasakian [14], trans-Sasakian [22] and K -contact manifolds [20], on Kenmotsu [2], [18] and f -Kenmotsu manifolds [6] etc. In paracontact geometry, Ricci solitons firstly appeared in the paper of G. Calvaruso and D. Perrone [4]. Recently, C. L. Bejan and M. Crasmareanu dealt with Ricci solitons on 3-dimensional normal paracontact manifolds [3].

A more general notion is that of η -Ricci soliton introduced by J. T. Cho and M. Kimura [7], which was treated by C. Călin and M. Crasmareanu on Hopf hypersurfaces in complex space forms [5].

In the present paper we consider η -Ricci solitons on Lorentzian para-Sasakian manifolds which satisfy certain curvature properties, in particular, $R(\xi, X) \cdot S = 0$ and $S \cdot R(\xi, X) = 0$, respectively. Remark that in [18], H. G. Nagaraja and C. R. Premalatha have obtained some results on Ricci solitons satisfying conditions of the following type: $R(\xi, X) \cdot \tilde{C} = 0$, $P(\xi, X) \cdot \tilde{C} = 0$, $H(\xi, X) \cdot S = 0$, $\tilde{C}(\xi, X) \cdot S = 0$ and in [2], C. S. Bagewadi, G. Ingalahalli and S. R. Ashoka treated the cases: $R(\xi, X) \cdot B = 0$, $B(\xi, X) \cdot S = 0$, $S(\xi, X) \cdot R = 0$, $R(\xi, X) \cdot \tilde{P} = 0$ and $\tilde{P}(\xi, X) \cdot S = 0$. We also prove that a Lorentzian para-Sasakian manifold of constant curvature supporting an η -Ricci soliton is locally isometric to a sphere.

2010 *Mathematics Subject Classification.* Primary 53C15; Secondary 53B30, 53C21, 53C25, 53C44

Keywords. η -Ricci solitons, Lorentzian para-Sasakian structure

Received: 20 March 2014; Accepted: 03 April 2015

Communicated by Ljubica Velimirović

The author acknowledges the support by the research grant PN-II-ID-PCE-2011-3-0921.

Email address: adarablaga@yahoo.com (Adara M. Blaga)

2. Lorentzian Para-Sasakian Manifolds

Let M be an n -dimensional smooth manifold, φ a tensor field of $(1, 1)$ -type, ξ a vector field, η a 1-form and g a Lorentzian metric on M .

Definition 2.1. [15] We say that (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on M if:

1. $\varphi\xi = 0, \eta \circ \varphi = 0,$
2. $\eta(\xi) = -1, \varphi^2 = I + \eta \otimes \xi,$
3. $g(\varphi \cdot, \varphi \cdot) = g + \eta \otimes \eta,$
4. $(\nabla_X \varphi)Y = g(X, Y)\xi + 2\eta(X)\eta(Y)\xi + \eta(Y)X,$ for any $X, Y \in \mathfrak{X}(M)$, where ∇ is the Levi-Civita connection associated to g .

From the definition it follows that η is the g -dual of ξ , i.e.:

$$\eta(X) = g(X, \xi), \tag{1}$$

for any $X \in \mathfrak{X}(M)$, ξ satisfies:

$$g(\xi, \xi) = -1 \tag{2}$$

and φ is a g -symmetric operator, i.e.:

$$g(\varphi X, Y) = g(X, \varphi Y), \tag{3}$$

for any $X, Y \in \mathfrak{X}(M)$.

Properties of this structure are given in the next proposition.

Proposition 2.2. On a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$, for any $X, Y, Z \in \mathfrak{X}(M)$, the following relations hold:

$$\nabla_X \xi = \varphi X \tag{4}$$

$$\eta(\nabla_X \xi) = 0, \nabla_\xi \xi = 0, \tag{5}$$

$$R(X, Y)\xi = -\eta(X)Y + \eta(Y)X, \tag{6}$$

$$\eta(R(X, Y)Z) = \eta(X)g(Y, Z) - \eta(Y)g(X, Z), \eta(R(X, Y)\xi) = 0, \tag{7}$$

$$(\nabla_X \eta)Y = (\nabla_Y \eta)X = g(\varphi X, Y), \nabla_\xi \eta = 0, \tag{8}$$

$$\mathcal{L}_\xi \varphi = 0, \mathcal{L}_\xi \eta = 0, \mathcal{L}_\xi g = 2g(\varphi \cdot, \cdot), \tag{9}$$

where R is the Riemann curvature tensor field and ∇ is the Levi-Civita connection associated to g .

Proof. The proof of the relations (4) – (8) can be found in [19].

Express now the Lie derivatives along ξ as follows:

$$(\mathcal{L}_\xi \varphi)(X) := [\xi, \varphi X] - \varphi([\xi, X]) = \nabla_\xi \varphi X - \nabla_{\varphi X} \xi - \varphi(\nabla_\xi X) + \varphi(\nabla_X \xi) = \nabla_\xi \varphi X - \varphi(\nabla_\xi X) := (\nabla_\xi \varphi)X = 0,$$

$$(\mathcal{L}_\xi \eta)(X) := \xi(\eta(X)) - \eta([\xi, X]) = \xi(g(X, \xi)) - g(\nabla_\xi X, \xi) + g(\nabla_X \xi, \xi) = g(X, \nabla_\xi \xi) + \eta(\nabla_X \xi) = 0$$

and

$$\begin{aligned} (\mathcal{L}_\xi g)(X, Y) &:= \xi(g(X, Y)) - g([\xi, X], Y) - g(X, [\xi, Y]) = \xi(g(X, Y)) - g(\nabla_\xi X, Y) + g(\nabla_X \xi, Y) - g(X, \nabla_\xi Y) + g(X, \nabla_Y \xi) = \\ &= g(\nabla_X \xi, Y) + g(X, \nabla_Y \xi) = 2g(\varphi X, Y). \end{aligned}$$

□

From this proposition we get that the (0,2)-tensor field:

$$\omega(X, Y) := g(X, \varphi Y), \tag{10}$$

is symmetric and satisfies:

$$\begin{aligned} \omega(\varphi X, Y) &= \omega(X, \varphi Y), \quad \omega(\varphi X, \varphi Y) = \omega(X, Y) \\ (\nabla_X \omega)(Y, Z) &= \eta(Y)g(X, Z) + \eta(Z)g(X, Y) + 2\eta(X)\eta(Y)\eta(Z), \end{aligned}$$

for any $X, Y, Z \in \mathfrak{X}(M)$.

Remark 2.3. On a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$ we deduce that:

(i) The 1-form η is closed. Indeed, from $\nabla_X \xi = \varphi X$ we obtain:

$$\begin{aligned} (d\eta)(X, Y) &:= X(\eta(Y)) - Y(\eta(X)) - \eta([X, Y]) = X(g(Y, \xi)) - Y(g(X, \xi)) - g([X, Y], \xi) = \\ &= X(g(Y, \xi)) - g(\nabla_X Y, \xi) - Y(g(X, \xi)) + g(\nabla_Y X, \xi) = g(Y, \nabla_X \xi) - g(X, \nabla_Y \xi) = \\ &= g(Y, \varphi X) - g(X, \varphi Y) = 0. \end{aligned}$$

(ii) The Nijenhuis tensor field associated to φ ,

$$N_\varphi(X, Y) := \varphi^2[X, Y] + [\varphi X, \varphi Y] - \varphi[\varphi X, Y] - \varphi[X, \varphi Y],$$

equals to:

$$\begin{aligned} N_\varphi(X, Y) &= -\varphi[(\nabla_X \varphi)Y - (\nabla_Y \varphi)X] + (\nabla_{\varphi X} \varphi)Y - (\nabla_{\varphi Y} \varphi)X = \\ &= -\varphi[\eta(Y)X - \eta(X)Y] + \eta(Y)\varphi X - \eta(X)\varphi Y = 0. \end{aligned}$$

Therefore, the structure is normal.

Example 2.4. [19] Let $M = \{(x, y, z) \in \mathbb{R}^3, z \neq 0\}$, where (x, y, z) are the standard coordinates in \mathbb{R}^3 . Consider the linearly independent system of vector fields

$$E_1 := e^z \frac{\partial}{\partial y}, \quad E_2 := e^z \left(\frac{\partial}{\partial x} + \frac{\partial}{\partial y} \right), \quad E_3 := \frac{\partial}{\partial z}.$$

Define the Lorentzian metric g by:

$$g(E_1, E_1) = g(E_2, E_2) = -g(E_3, E_3) = 1,$$

$$g(E_1, E_2) = g(E_2, E_3) = g(E_3, E_1) = 0$$

the vector field ξ and the 1-form η by:

$$\xi := E_3, \quad \eta(X) := g(X, E_3),$$

for any $X \in \mathfrak{X}(M)$, and the (1,1)-tensor field φ by:

$$\varphi E_1 = -E_1, \quad \varphi E_2 = -E_2, \quad \varphi E_3 = 0.$$

Using Koszul's formula for the Lorentzian metric g we obtain:

$$\nabla_{E_1} E_1 = -E_3, \quad \nabla_{E_1} E_2 = 0, \quad \nabla_{E_1} E_3 = -E_1, \quad \nabla_{E_2} E_1 = 0, \quad \nabla_{E_2} E_2 = -E_3,$$

$$\nabla_{E_2} E_3 = -E_2, \quad \nabla_{E_3} E_1 = 0, \quad \nabla_{E_3} E_2 = 0, \quad \nabla_{E_3} E_3 = 0.$$

In this case, (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on M .

3. Ricci and η -Ricci Solitons on $(M, \varphi, \xi, \eta, g)$

Let $(M, \varphi, \xi, \eta, g)$ be a Lorentzian para-Sasakian manifold. Consider the equation:

$$\mathcal{L}_\xi g + 2S + 2\lambda g + 2\mu\eta \otimes \eta = 0, \tag{11}$$

where \mathcal{L}_ξ is the Lie derivative operator along the vector field ξ , S is the Ricci tensor field of the metric g , and λ and μ are real constants. Writing $\mathcal{L}_\xi g$ in terms of the Levi-Civita connection ∇ , we obtain:

$$2S(X, Y) = -g(\nabla_X \xi, Y) - g(X, \nabla_Y \xi) - 2\lambda g(X, Y) - 2\mu\eta(X)\eta(Y), \tag{12}$$

for any $X, Y \in \mathfrak{X}(M)$, or equivalent:

$$S(X, Y) = -g(\varphi X, Y) - \lambda g(X, Y) - \mu\eta(X)\eta(Y), \tag{13}$$

for any $X, Y \in \mathfrak{X}(M)$.

The data (g, ξ, λ, μ) which satisfy the equation (11) is said to be an η -Ricci soliton on M [7]; in particular, if $\mu = 0$, (g, ξ, λ) is a Ricci soliton [11] and it is called *shrinking*, *steady* or *expanding* according as λ is negative, zero or positive, respectively [9].

In [16] and [17] the authors proved that on a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$, the Ricci tensor field satisfies:

$$S(X, \xi) = (\dim(M) - 1)\eta(X), \tag{14}$$

$$S(\varphi X, \varphi Y) = S(X, Y) + (\dim(M) - 1)\eta(X)\eta(Y), \tag{15}$$

for any $X, Y \in \mathfrak{X}(M)$. From (13) and (14) we obtain:

$$\mu - \lambda = n - 1. \tag{16}$$

Example 3.1. On the Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$ considered in Example 2.4, the data (g, ξ, λ, μ) for $\lambda = -1$ and $\mu = 1$ defines an η -Ricci soliton. Indeed, the Riemann and the Ricci curvature tensor fields are given by:

$$\begin{aligned} R(E_1, E_2)E_2 &= E_1, & R(E_1, E_3)E_3 &= -E_1, & R(E_2, E_1)E_1 &= E_2, \\ R(E_2, E_3)E_3 &= -E_2, & R(E_3, E_1)E_1 &= E_3, & R(E_3, E_2)E_2 &= E_3, \\ S(E_1, E_1) &= S(E_2, E_2) = 2, & S(E_3, E_3) &= -2. \end{aligned}$$

From (13) we obtain $S(E_1, E_1) = 1 - \lambda$ and $S(E_3, E_3) = \lambda - \mu$, therefore $\lambda = -1$ and $\mu = 1$.

The next theorems formulate results in the cases when the Lorentzian para-Sasakian manifold is of constant curvature, has cyclic Ricci tensor (in particular, if the manifold is Ricci symmetric) or cyclic η -recurrent Ricci tensor.

Remark that if (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on the manifold M and (M, g) is of constant curvature, then M is elliptic manifold. Indeed, suppose that $R(X, Y)Z = k[g(Y, Z)X - g(X, Z)Y]$, for any $X, Y, Z \in \mathfrak{X}(M)$. Applying η to this relation and using the Proposition 2.2 we obtain $k = 1$.

Theorem 3.2. Let (φ, ξ, η, g) be a Lorentzian para-Sasakian structure on the manifold M and let (g, ξ, λ, μ) be an η -Ricci soliton on M .

1. If the manifold (M, g) has cyclic Ricci tensor (i.e. $(\nabla_X S)(Y, Z) + (\nabla_Y S)(Z, X) + (\nabla_Z S)(X, Y) = 0$, for any $X, Y, Z \in \mathfrak{X}(M)$), then $\mu = -1$ and $\lambda = -n$.
2. If the manifold (M, g) has cyclic η -recurrent Ricci tensor (i.e. $(\nabla_X S)(Y, Z) + (\nabla_Y S)(Z, X) + (\nabla_Z S)(X, Y) = \eta(X)S(Y, Z) + \eta(Y)S(Z, X) + \eta(Z)S(X, Y)$, for any $X, Y, Z \in \mathfrak{X}(M)$), then $\mu = -\frac{n+1}{2}$ and $\lambda = -\frac{3n-1}{2}$.

Proof. 1. Replacing the expression of S from (13) in $(\nabla_X S)(Y, Z) := X(S(Y, Z)) - S(\nabla_X Y, Z) - S(Y, \nabla_X Z)$ we obtain:

$$(\nabla_X S)(Y, Z) = -g((\nabla_X \varphi)Y, Z) - \mu[\eta(Y)(\nabla_X \eta)Z + \eta(Z)(\nabla_X \eta)Y]$$

and replacing $\nabla\varphi$ and $\nabla\eta$ we get:

$$(\nabla_X S)(Y, Z) = -\eta(Y)[g(X, Z) + \mu g(\varphi X, Z)] - \eta(Z)[g(X, Y) + \mu g(\varphi X, Y)] - 2\eta(X)\eta(Y)\eta(Z). \tag{17}$$

Then:

$$\begin{aligned} & (\nabla_X S)(Y, Z) + (\nabla_Y S)(Z, X) + (\nabla_Z S)(X, Y) = \\ & = -2\{\eta(X)[g(Y, Z) + \mu g(\varphi Y, Z)] + \eta(Y)[g(Z, X) + \mu g(\varphi Z, X)] + \eta(Z)[g(X, Y) + \mu g(\varphi X, Y)] + 3\eta(X)\eta(Y)\eta(Z)\}. \end{aligned}$$

For $Z := \xi$ we obtain:

$$\mu g(\varphi X, Y) + g(\varphi X, \varphi Y) = 0,$$

for any $X, Y \in \mathfrak{X}(M)$ and for $Y \mapsto \varphi Y$ we get:

$$\mu g(\varphi X, \varphi Y) + g(\varphi X, Y) = 0,$$

for any $X, Y \in \mathfrak{X}(M)$. Adding the previous two relations we have:

$$(1 + \mu)[g(\varphi X, Y) + g(\varphi X, \varphi Y)] = 0,$$

for any $X, Y \in \mathfrak{X}(M)$ and follows $\mu = -1$. From the relation (16) we get $\lambda = -n$.

2. After a computation we get:

$$\begin{aligned} & (1 + \lambda)[\eta(X)g(Y, Z) + \eta(Y)g(Z, X) + \eta(Z)g(X, Y)] + (1 + \mu)[\eta(X)g(\varphi Y, Z) + \eta(Y)g(\varphi Z, X) + \eta(Z)g(\varphi X, Y)] + \\ & + 3(1 + \mu)\eta(X)\eta(Y)\eta(Z) = 0, \end{aligned}$$

for any $X, Y, Z \in \mathfrak{X}(M)$. For $Y := \xi$ and $Z := \xi$ we obtain:

$$(2 - \lambda + 3\mu)\eta(X) = 0,$$

for any $X \in \mathfrak{X}(M)$ and follows $2 - \lambda + 3\mu = 0$. From the relation (16) we get $\mu = -\frac{n+1}{2}$ and $\lambda = -\frac{3n-1}{2}$.
□

From Theorem 3.2 we deduce:

Corollary 3.3. *On a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$ having cyclic Ricci tensor or cyclic η -recurrent Ricci tensor, there is no Ricci soliton with the potential vector field ξ .*

More particular cases as those from Theorem 3.2 are further considered.

Proposition 3.4. *Let (φ, ξ, η, g) be a Lorentzian para-Sasakian structure on the manifold M and let (g, ξ, λ, μ) be an η -Ricci soliton on M .*

1. *If the manifold (M, g) is Ricci symmetric (i.e. $\nabla S = 0$), then $\mu = -1$ and $\lambda = -n$.*
2. *If the Ricci tensor is η -recurrent (i.e. $\nabla S = \eta \otimes S$), then $\mu = \frac{n+3}{2}$ and $\lambda = -\frac{n-5}{2}$.*

Proof. 1. If $\nabla S = 0$, taking $Z := \xi$ in the expression of ∇S from (17) we obtain:

$$\mu g(\varphi X, Y) + g(\varphi X, \varphi Y) = 0,$$

for any $X, Y \in \mathfrak{X}(M)$ and as in the proof of Theorem 3.2 we get $\mu = -1$ and $\lambda = -n$.

2. If $\nabla S = \eta \otimes S$, from (17) we get:

$$-\eta(X)[\lambda g(Y, Z) + g(\varphi Y, Z)] + \eta(Y)[g(X, Z) + \mu g(\varphi X, Z)] + \eta(Z)[g(X, Y) + \mu g(\varphi X, Y)] + (2 - \mu)\eta(X)\eta(Y)\eta(Z) = 0,$$

for any $X, Y, Z \in \mathfrak{X}(M)$. For $X := \xi, Y := \xi$ and $Z := \xi$ we obtain $\lambda + \mu - 4 = 0$. From the relation (16) we get $\mu = \frac{n+3}{2}$ and $\lambda = -\frac{n-5}{2}$.

□

From Proposition 3.4 we deduce:

Corollary 3.5. *If a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$ is Ricci symmetric or has η -recurrent Ricci tensor, then on M there is no Ricci soliton with the potential vector field ξ .*

In what follows we shall consider η -Ricci solitons requiring for the curvature to satisfy $R(\xi, X) \cdot S = 0$ and $S \cdot R(\xi, X) = 0$, respectively.

Theorem 3.6. *If (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on the manifold M , (g, ξ, λ, μ) is an η -Ricci soliton on M and $R(\xi, X) \cdot S = 0$, then $\mu = -1$ and $\lambda = -n$.*

Proof. The condition that must be satisfied by S is:

$$S(R(\xi, X)Y, Z) + S(Y, R(\xi, X)Z) = 0, \tag{18}$$

for any $X, Y, Z \in \mathfrak{X}(M)$.

Replacing the expression of S from (13) and from the symmetries of R we get:

$$g(\eta(Y)Z + \eta(Z)Y, \varphi X) + \mu[\eta(Y)g(X, Z) + \eta(Z)g(X, Y) + 2\eta(X)\eta(Y)\eta(Z)] = 0, \tag{19}$$

for any $X, Y, Z \in \mathfrak{X}(M)$.

For $Z := \xi$ we have:

$$g(\varphi X, Y) + \mu[g(X, Y) + \eta(X)\eta(Y)] = 0, \tag{20}$$

for any $X, Y \in \mathfrak{X}(M)$, which is equivalent to:

$$g(\varphi X, Y) + \mu g(\varphi X, \varphi Y) = 0, \tag{21}$$

and for $Y \mapsto \varphi Y$ we get:

$$g(\varphi X, \varphi Y) + \mu g(\varphi X, Y) = 0,$$

for any $X, Y \in \mathfrak{X}(M)$. Adding the previous two relations we have:

$$(1 + \mu)[g(\varphi X, Y) + g(\varphi X, \varphi Y)] = 0,$$

for any $X, Y \in \mathfrak{X}(M)$ and follows $\mu = -1$. From the relation (16) we get $\lambda = -n$. □

From Theorem 3.6 we deduce:

Corollary 3.7. *On a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$ satisfying $R(\xi, X) \cdot S = 0$, there is no Ricci soliton with the potential vector field ξ .*

From the relations (13), (16) and (20) we obtain:

$$S = (\mu - \lambda)g = (n - 1)g. \tag{22}$$

Therefore:

Proposition 3.8. *If (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on the manifold M , (g, ξ, λ, μ) is an η -Ricci soliton on M and $R(\xi, X) \cdot S = 0$, then (M, g) is Einstein manifold.*

Theorem 3.9. *If (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on the manifold M , (g, ξ, λ, μ) is an η -Ricci soliton on M and $S(\xi, X) \cdot R = 0$, then $\mu = -1$ and $\lambda = -n$.*

Proof. The condition that must be satisfied by S is:

$$S(X, R(Y, Z)W)\xi - S(\xi, R(Y, Z)W)X + S(X, Y)R(\xi, Z)W - S(\xi, Y)R(X, Z)W + S(X, Z)R(Y, \xi)W - S(\xi, Z)R(Y, X)W + S(X, W)R(Y, Z)\xi - S(\xi, W)R(Y, Z)X = 0, \tag{23}$$

for any $X, Y, Z, W \in \mathfrak{X}(M)$.

Taking the inner product with ξ , the relation (23) becomes:

$$S(X, R(Y, Z)W) - S(\xi, R(Y, Z)W)\eta(X) + S(X, Y)\eta(R(\xi, Z)W) - S(\xi, Y)\eta(R(X, Z)W) + S(X, Z)\eta(R(Y, \xi)W) - S(\xi, Z)\eta(R(Y, X)W) + S(X, W)\eta(R(Y, Z)\xi) - S(\xi, W)\eta(R(Y, Z)X) = 0, \tag{24}$$

for any $X, Y, Z, W \in \mathfrak{X}(M)$.

Replacing the expression of S from (13), we get:

$$2(\lambda - \mu)\eta(X)[\eta(Y)g(Z, W) - \eta(Z)g(Y, W)] + \mu\eta(W)[\eta(Z)g(X, Y) - \eta(Y)g(X, Z)] + \lambda[g(X, Y)g(Z, W) - g(X, Z)g(Y, W)] + g(\varphi X, Z)[\eta(Y)\eta(W) + g(Y, W)] + g(\varphi X, Y)[\eta(Z)\eta(W) + g(Z, W)] - g(\lambda X + \varphi X, R(Y, Z)W) = 0, \tag{25}$$

for any $X, Y, Z, W \in \mathfrak{X}(M)$.

For $Z := \xi$ and $W := \xi$ we have:

$$g(\varphi X, Y) + \mu[g(X, Y) + \eta(X)\eta(Y)] = 0, \tag{26}$$

for any $X, Y \in \mathfrak{X}(M)$ and as in the proof of Theorem 3.6 we obtain $\mu = -1$ and $\lambda = -n$. \square

From Theorem 3.9 we deduce:

Corollary 3.10. *On a Lorentzian para-Sasakian manifold $(M, \varphi, \xi, \eta, g)$ satisfying $S(\xi, X) \cdot R = 0$, there is no Ricci soliton with the potential vector field ξ .*

From the relations (13), (16) and (26) we obtain:

$$S = (\mu - \lambda)g = (n - 1)g. \tag{27}$$

Therefore:

Proposition 3.11. *If (φ, ξ, η, g) is a Lorentzian para-Sasakian structure on the manifold M , (g, ξ, λ, μ) is an η -Ricci soliton on M and $S(\xi, X) \cdot R = 0$, then (M, g) is Einstein manifold.*

As a final remark concerning the existence of Ricci solitons on a Lorentzian para-Sasakian manifold $(M^n, \varphi, \xi, \eta, g)$, we conclude that there is but one Ricci soliton given for $\lambda = -n + 1$.

Acknowledgement. The author is grateful to the referees for their valuable suggestions and remarks that definitely improved the paper.

References

- [1] C. S. Bagewadi, G. Ingalahalli, Ricci solitons in Lorentzian α -Sasakian manifolds, *Acta Math. Academiae Paedagogicae Nyiregyháziensis* 28 (2012), no. 1, 59–68.
- [2] C. S. Bagewadi, G. Ingalahalli, S. R. Ashoka, A Study on Ricci Solitons in Kenmotsu Manifolds, *ISRN Geometry*, vol. 2013, Article ID 412593, 6 pages, 2013.
- [3] C. L. Bejan, M. Crasmareanu, Second order parallel tensors and Ricci solitons in 3-dimensional normal paracontact geometry, *Anal. Global Anal. Geom.*, DOI: 10.1007/s10455-014-9414-4.
- [4] G. Calvaruso, D. Perrone, Geometry of H -paracontact metric manifolds, arxiv:1307.7662v1.2013.
- [5] C. Călin, M. Crasmareanu, Eta-Ricci solitons on Hopf hypersurfaces in complex space forms, *Revue Roumaine de Mathématiques pures et appliquées* 57 (2012), no. 1, 55–63.
- [6] C. Călin, M. Crasmareanu, From the Eisenhart problem to Ricci solitons in f -Kenmotsu manifolds, *Bull. Malaysian Math. Sci. Soc.* 33 (2010), no. 3, 361–368.
- [7] J. T. Cho, M. Kimura, Ricci solitons and real hypersurfaces in a complex space form, *Tohoku Math. J.* 61 (2009), no. 2, 205–212.
- [8] O. Chodosh, F. T.-H. Fong, Rotational symmetry of conical Kähler-Ricci solitons, arxiv:1304.0277v2.2013.
- [9] B. Chow, P. Lu, L. Ni, Hamilton’s Ricci Flow, *Graduate Studies in Mathematics*, 77 (2006), AMS, Providence, RI, USA.
- [10] A. Futaki, H. Ono, G. Wang, Transverse Kähler geometry of Sasaki manifolds and toric Sasaki-Einstein manifolds, *J. Diff. Geom.* 83 (2009), no. 3, 585–636.
- [11] R. S. Hamilton, The Ricci flow on surfaces, *Math. and general relativity (Santa Cruz, CA, 1986)*, 237–262, *Contemp. Math.* 71 (1988), AMS.
- [12] R. S. Hamilton, Three-manifolds with positive Ricci curvature, *J. Diff. Geom.* 17 (1982), no. 2, 255–306.
- [13] C. He, M. Zhu, The Ricci solitons on Sasakian manifolds, arxiv:1109.4407v2.2011.
- [14] G. Ingalahalli, C. S. Bagewadi, Ricci solitons in α -Sasakian manifolds, *ISRN Geometry*, vol. 2012, Article ID 421384, 13 pages, 2012.
- [15] K. Matsumoto, On Lorentzian paracontact manifolds, *Bull. Yamagata Univ. Natural Sci.* 12 (1989), no. 2, 151–156.
- [16] K. Matsumoto, I. Mihai, On a certain transformation in a Lorentzian para-Sasakian manifold, *Tensor N. S.* 47 (1988), 189–197.
- [17] I. Mihai, A. A. Shaikh, U. C. De, On Lorentzian para-Sasakian manifolds, *Rendiconti del Seminario Matematico di Messina, Serie II* (1999).
- [18] H. G. Nagaraja, C. R. Premalatha, Ricci solitons in Kenmotsu manifolds, *J. Math. Anal.* 3 (2012), no. 2, 18–24.
- [19] R. Prasad, V. Srivastav, On (ϵ) -Lorentzian para-Sasakian manifolds, *Commun. Korean Math. Soc.* 27 (2012), no. 2, 297–306.
- [20] R. Sharma, Certain results on K -contact and (k, μ) -contact manifolds, *J. Geom.* 89 (2008), no. 1-2, 138–147.
- [21] M. M. Tripathi, Ricci solitons in contact metric manifolds, <http://arxiv.org/abs/0801.4222>.
- [22] M. Turan, U. C. De, A. Yildiz, Ricci solitons and gradient Ricci solitons in three-dimensional trans-Sasakian manifolds, *Filomat* 26:2 (2012), 363–370.